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MATHS ON THE BACK OF AN ENVELOPE

TEST YOURSELF

How is your arithmetic without the aid of a calculator?
Try these 10 questions. There is no time pressure, and
you’re allowed to use pencil and paper if you want. As
you do these questions, you might want to think about
how you do them. Are you recalling facts you’ve mem-
orised? Do you use a pencil-and-paper method?

@17+ 8

(b)62~13

©)4 25020 ~1;998

d 9X4

(e) 8 X7

(f) 40 X 30

(g)28:2:%X:5

(h) One-quarter of 120

(i) Whatis 75% as a fraction?
() What is 10% of 94?

Find out how other people do these calculations on

page 185.

I can still remember the thrill when I first got a calculator of
my own. It was made by Commodore, and had red LED dig-
its and buttons that made a satisfying click when you pressed
them. It Wagta Christmas present, and I was 16 years old. I
was captivated. Just being able to enter a number like 123456
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@ 17 + 8 = 25 The vast majority of adults and
my survey answered this i : nd teenagers in
: s in their head, but ev
straightforward addition like this, there is a iy enffor a
€ O
that people use to get there. The three common appro W:lys
achnes

were:
. 7+ 8 =15,then add 10 to get 25.

o Split 8 into 3 + 5; then add 17 + 3 = 20; then add 5
to get 25 (splitting a number up in this way is referred

joning in primary schools).

to as partit
. 17 + 10 = 27, then take away

o 8istwo less than 10 . .
2 to get 25.

3 =49 Almost everyone uses two steps here. Those

(b) 62-1
who do it mentally either do ‘take away 10 = 52, then take
away three = 49’ or ‘take away three = 59, then take away
thod will typically

10 = 49’. Those who use a written me

work from the right: 3 from 2... borrow 10 ..., etc.

2 Viewed as a regular subtraction,

© 2,020 - 1,998 = 2
f tens and

2,020 — 1,998 requires careful carrying over O
hundreds. But if the problem had been: ‘Amy was born in
1998. How old will she be in 20202’ most people solve this
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by counting up, rather
than by subtracting: ¢
g: ‘two
1998 to 2000, add 20 years up to 2020, equals 223’3“3 e
ears’,

d 4 X 9 = 36 :I‘hose who do calculations fre
remenftber their times tables, and regurgitat Q:lently will
are thirty-six’ without having to think. But ite, _fOUr Nines
to obs‘erve how those who are rusty with theirs Interesting
work it out. The quickest way is to calculate 1(:1mes tables
and then subtract 4. L (S10)

© 8 X 7 =56
adults shared with me included:
° 7><7=49,add7=56
B 22X 7 =14, double it = 28, double that = 56
5 x 7 =735, add 7, add 7, add 7 = 56.

Aside from instant recall, approaches that

1,200 People generally know, or very quickly
12. But change it to 40 X 30, and the

roes can make this calculation much
h is to do it In

(f) 40 X 30 =
work out, ATX 8 =
addition of those z¢€

more of 2 struggle-

A common approac

: 0
e § e ultiply by 10 to 8!
(e.g 40 % 3 = 120); then m L
1,200 There 2are others, however(,See ok
: We.r 12 is not ncommo
ans S
zcroes’ rule on page 29
i f:
Of the calculauons $0 s
P pody ¥
(8) 3o2 >< h almost eVCry 5 x Oz
tbCﬁrStfr GO s
Most €© & altiplyire
uts
gome &
e 42
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ANSWERS AND T1ps

MOst common approac

m , h
I al place one to the Jef i adults

g L, so
ens becOme e e > that the
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